EIZATQT'IKEX EZEETAXEIX A’ AYKEIOY 2022

ATTAIKH TAQXEA

Circle the letter of the correct answer among the four choices given. There is only

one correct answer.

PART I - GRAMMAR

1. The student to leave school by 14:00, but the exam took longer than

expected.
A.  hoped C. hashoped
B. had hoped D. would hope
2. Someone____around with the library’s computers! All useful apps are

nowhere to be found!

A. is messing

C. has been messing

B. was messing

D. had been messing

3. The dance instructor promised that he would salsa in no time!

A. have us dancing

C. have usto dance

B. letusdance

D. getustodance

4. Both parties should agree if a new contract .

A.  will be signed

C. hasbeen signed

B. isto be signed

D. isbeing signed

5. Unfortunately, Greg never really understood what .

were the consequences of his
actions.

the consequences of his actions
are.

are the consequences of his
actions.

the consequences of his actions
were.




6. The wedding organizer objected to the wedding__ place between 8am
and 4pm.

A.  totake C. take

B. taking D. will take

7. The manager is certain that the young employee’s minor mistake___ by the
end of the fiscal year.

A.  will have been forgotten C. might be forgotten

B.  will be forgetting D. would be forgotten

8. __ their project, students were allowed to take their break a bit earlier.

A.  Finishing C. Having finished

B.  Having to finish D. To have finished

9. Supposel___ agenerous discount,___you consider my offer?

A.  have made ... would C. were to make ... would

B.  will make ... would D. were to make ... will

10. __ was the couple’s disappointment with their new house____they
decided to move out.

A. So..as C. So..that

B. Such...so D.  Such ... that

11. The young mother wishes her toddler all the time.

A.  wouldn’t cry C. won’tcry

B. hasn’t cried D. hadn’tcried

12. Passengers were instructed____their masks during the flight.
A.  notremoving C. nottoremove




B.  should not remove D. toberemoving

13. Youreally__ all these snacks; breakfast is included in the price.

A.  needn’tbring C. needn’t have brought

B.  wouldn’t bring D. wouldn’t have brought

14. Restaurant owners are satisfied with their profits____ this has been a
difficult year due to the pandemic.

A.  whereas C. despite that

B. given that D. no matter that

15. All visitors ask where____leave their personal belongings once they enter
the museum.

A.  should they C. would they

B. they should D. they would

16. _ had the concert started____the singer collapsed on the stage!

A.  Nosooner ... than C. Hardly ... before

B. Nosooner ... but D. Rarely ... when

17.1fyou__ somuch,you____ sleepy now.

A. haven't eaten ... wouldn’t be C. hadn’teaten ... wouldn’t be

EZZﬁn’t eaten ... wouldn’t have D. didn’teat...wouldn’t have been

18. Only when the environmental crisis gets worse_____decide to act.

A.  the government will C. the government would

B.  would the government D.  will the government

19. _ thestaff  working remotely yet?




A.

Has ... got used to

C. Has...usedto

B. Is..usedto D. Is...getting used to
20. Today’s newspaper headline is: “Scientists__ New Vaccine”
A.  Create C. Creating

B. Creates D. Creation

PART II - VOCABULARY

21.The actress had worked so hard for the play’s premiere that her fear of

failure seemed entirely .

A.  irrelevant C. irrational

B. irresponsible D. irritating

22. Experts fear that automation could make millions of jobs_____in the next few
years.

A.  valuable C. abundant

B. invaluable D. redundant

23.1can’t believe you___ out our secret to your mother!

A.  passed C. figured

B.  blurted D. laid

24. After a five-hour-long meeting, claiming that we are simply tired is clearly

a(n) .
A. overstatement C. misstatement
B. understatement D. restatement




25.Young people might be indifferent towards politics, but in reality they
are well-informed and active citizens.

A.  seemingly C. apparently

B. completely D. casually

26. Miranda had always____herself as a professional ballerina, so dancing at the
Royal Opera House was a dream come true.

A. portrayed C. envisioned

B. contemplated D. anticipated

27. The benefits of breastfeeding a new-born baby clearly any difficulties.

A.  outweigh C. overcome

B. imbalance D. compensate

28. The guests were not happy with the hotel services, so they did not wish to

__ their stay.
A. delay C. cease
B. postpone D. prolong
29. Research has proven that voters tend to believe in____ claims made by
politicians, despite the fact that there is no evidence to support them.
A.  valid C. rigid
B. unsubstantiated D. superficial

30. Even though most teenagers being told what to do, Jerry actually enjoys
his grandma’s advice.

A. resent C. object

B. adore D. cherish




31. Dorothy really wanted to go to the party, but was forced to decline
Mark’s invitation due to some flu symptoms she experienced.

A.  defiantly C. regretfully

B. persistently D. fortunately

32. The firefighter tried to seem calm, but the members of his team could see
his controlled manner.

A. over C. into

B. under D. through

33. Parents should be neither too__ nor too strict; it’s all about moderation.
A. conservative C. permissive

B. repulsive D. agreeable

34. Perfection is an illusion; what makes us truly beautiful are our small .

A. blemishes C. freckles

B. dots D. speckles

35. Unfortunately, all measures taken to reduce traffic congestion have only
the problem.

A. prevented C. ameliorated

B. irritated D. aggravated

36. They are exactly the same! Like two !

A. podsinapea C. podsinashell
B. peasinapod D. shellsina pod
37. The junior programmer was accused by his supervisor of with tasks he

was not responsible for.




A.

integrating

C. interacting

B.

interfering

D. interlocking

38. After her final wedding dress fitting, the bride the ball gown.

A. launched into C. favoured over

B. wentby D. opted for

39. People that manage to____ from a difficult situation are worthy of our
respect.

A. appear C. emerge

B. overcome D. stem

40. In the past, the death penalty was considered a(n)___to committing crimes;
today, it is viewed as cruel and inhumane.

A.  deterrent C. obstacle

B. motive D. incentive




PART III - WRITING

The United Kingdom’s parliament is debating a law about animal sentiencel. If it is passed,
the law will recognise, for the first time in history, that animals are able to experience
feelings and sensations like joy or pain. The aim is to improve standards and get rid of
harmful practices for animals. As a result, all new government proposals and actions will

have to take animal welfare into account.
(Adapted from “Animal Sentience Bill” by The Economist Educational Foundation)

In what ways do you think that this law would change the way humanity views and uses
animals? Write an article for your school magazine, expressing your opinion on the
matter.

Your article should be between 180 - 200 words. It should have a title, a clear
introduction, a development of your main ideas, and a suitable conclusion.

! sentience: the ability to perceive or feel things



NEA EAAHNIKA

MEPO2Z |. EPQTHZEIZ NOAAANAHZ ENIAOIHZ

MapakadoUue, KUKAWOTE TN povadikn ocwotn aravinon oti¢ Epwthoels 1-10.

1) MapoAo mou Sev NEepa tn AVon, Mpoonadnoa oAU WG TO TEAOG.

Q. TIAPATAKTIKY oUVEEDN
B. UTTIOTOKTLKN cUVOEDn
y. aouvdeTo oxnua

6. avTLOETIKN oUvdeon

2) KaBwg mAnaolalelg, ppoviios va KOWELS ToxuTNTA.
a. XPOVLKI — TEALKNA

B. XPOVLKN — BOUANTLKA

y. QULTLOAOYLKNA — TEALKN

6. attioAoyikn — BouAntikni

3) Mia tétola adikia pmopel va amoyontevoel KaBs dvBpwro.

a. BouAnTiKA — AVTLKELLEVO
B. BouAnTikA — UTTOKELpEVO
2 BouAntikn — ene€nynon
6. TEAWKN
4) MNnw¢ yvwpilelg molog eivat autog mou BynKe MpwTog;
a. TIAQYLOL EPWTNHOTLKA
B. avadopLkn
V. evdolaoTikn
6. KUpLOL

5) Kataktioape tnv YnAdtepn kopudn! (Tt SnAwvel To BaupaoTiko;)

a. Eudaon
B ElpwVeia
Y. evBouolaouo
6 armoyonteuon
6)Ot............ ToU gyypaddou dev xwpouv OAEG TIG TAnpodopied.
a. OTNAEG
B. oTUAoL
Y OTUAEG
6 otniAol
7) AnAadn ............ OTL EYW ..ureee. QUTA TNV WoTopia;
a. ETLVOE(G - uTtovonoa
B UTIOVOEILC — ETIVONCQ
Y. ETIVOELG — MLVONoQ
6 ETUVOELG — evvonoa



8) Av bev .......c....... , TOTE OEV ... v ekdpoun!

a. appwotalva — £xooa

B appwotaivw — Ba xaow

Y. appwotalva — Ba xaow

6 elya appwotnoesl — Ba eixa xaoel
9)..... Kalvouplo UTIAAANAO e TTIOAUXpOV ......... .

a. nnpa — neipa

B. nelpa — nnpa

Y. neipa — neipa

6. nRpa — npa

10) Aev £xw apkeTA xprpata, dpa dev Ba ayopdow timota: TL SNAWVEL N UTIOYPAUULOUEVN AEEN;

Q. attia

B. CUUTEPAOUA
V. OKOTIO

6. XPOVO

Mépog |: povadeg 30
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MEPO?Z II. KEIMENO KAI EPQTHZEIZ

ITa YHEoa TEPLIOU TOU TOAEPOU, 0 SACKAAOG TOU XWPLOU TIRPE TN YUVALKO TOU KoL TO TEVTE
HLKPA TTaSLa Toug Kat €duyav armo TNV KATEXOUEVN xwpa. Ta matdld Atav etolpobavata ano
NV MEelva Kal EMPEME va Ta cwoouv. Kal o povog tpomog nrav va ¢dpuyouv. Kpudad ¢uaoikd.
Mniikav o€ pio BApko PE KOUTILA KOl TTEPACAV QTEVAVTL OO TO vNOL, otnv oudétepn TOTE
Toupkia. OL OTPATIWTEG TWV ZUUUAXWVY TOUG UTIOSEXTNKAV WE TTPOODUYEC KAL TOUG ECTELAQV OF
€vav KatauAlopo otn Méon AvatoAn, otn Zupia. Eméotpeav otnv EAAGSO PETA TO TEAOG TOU
noAépou. Etal, cwbnkav.

‘Eva amnod ta mévte madld Atav n pava pou. Akopa to Bupdtal KL otav Twpa BAENEL mpooduyeg
ot eldnoelg povoloyel: «MakdpL va toug $poviioouv, OMwE eUag tote!» Kal ouveyilet:
«Tuxepol elote mou v umapyxouv MOAepoL Ta ! »

Quotkd, TOAEPOL UTIAPXOUV KaL TO EEPEL. ATTAWG XalpeTaL TTOU oL TtOAeOL Sev eivat edw, 0° EUAG.
Omnolog €xel HEAETAOEL LOTOPLA, €0TW KoL EAAXLOTA, EUXETAL VA LNV YVWPLOEL TOV TTIOAEUO OTN
Slapkela tng {wng Tou. Av £xel madLd, colyoupa To eUXETAL KaL yia Ta motdid tou. 'H kal yla ta
gyyovia Tou.

Y€ OAeg oxedOV TIG EUPWTATKEG XWPEG, OL TEAEUTALEG YEVIEG yvwpllouv TOV MOAEUO PUOVO HEoa
QMo TIG TALWVIEG TOU KLVNUOTOYpAdOoU Kal TIG OELPEG TNG TNAEOpAONG. AKOUO KAl OO OQUTEG,
BéBala, umopel Kaveic va VIWOEL TTO0O LEYAAN cupdopd ival évag TOAEOG, KABE TTOAepOG. Ta
navra dtaAvovtal kal kataotpédovral. Timota dev pével 0pBLo: avBpwrol, KTipLa, TIOAELS Kall
XWPEG OAOKANPEG UETATPEMOVTAL O CWPOUG oo gpeimia. Kabe onuavtikn afia xavetal Kot
HovadLKOG okomog yivetal n emBiwon pe kaBe péoo, £o0tw Kal o€ BApog Tou cuvavBpwrou. Ot
avBpwrmol mavouv va cuunepldEpovtal avbpwriva Kal yivovtal xelpotepol amnod ta Onpia.

Madll pe 6Aa Ta uTtoAouna Tpavpatiletal kot tebaivel kot n aAnBela. Moté kaveic dev pabaivel
oKkpLBWC OAa 6oa cuvEPBnoav os £vav MOAEp0. Katd tn SLapkeLd Tou, n mpomayavoéa opylalet

oo OAEC TIC MAEUPEC. KL OTav 0 TIOAEOC TEAELWOEL, TNV LoTopia ypAdouv mAvVTa oL VIKNTEG.

Makapt, Aoutov, oL EMOUEVEC YEVIEC VA YVwpPLoouv Tt ¢plkn Tou TTOAEUOU HOVO PECA OO TO
BBAla LoTtoplag Kal TIG KvnuaTtoypadIKEC TALVIES KAl OELPEG!

EpwtRoelc pue Bdon To KEIUEVO

MapakadoUue, KUKAwOTE TH povadiky owoth anavinon otic epwrtroeis 1-10.

1) ZUpdwva pe To KEIPEVO, N LEAETN TNG LOTOPLOG MOG KAVEL:

VO VOOTAAYOULE TOV TTOAEUO

va EMLOLWKOU LE TOV TIOAEO

Va EUXOUAOTE va (OUUE ELPNVLKA

VO EUXOUOOTE OL TTIOAEUOL VA YiVOVTOL LAKPLA HOG

o< ® R

2) JUpdwva e TO KELUEVO, OL ONUEPLVOL VEOL yvwpilouv Tov TTIOAEO:
WG TayvidL

WG LOTOPLKO YEYOVOC TOU IapeABOVTOC

W¢ TIPOOWTILKH EUTIELPLAL

WG TIEPUTETELA TTIOU €{NOAV OL YOVELG TOUG

o= ®p

11



3) Zupdwva e To Kelpevo, Ta aAnBva yeyovota evog MOAEUOU:

a. Ta pobaivoupe HETA TO TEAOG TOU

B Ta pobaivoupe otadlakd otn SLapKELd TOU
y. Ta pobaivoupe wg Eva onueio

6 6ev ta pabaivoupe moté

4) JVpdwva e To KELPEVO, OTA XpOVLA TOU TIOAEUOU, OL AvBpwrtoL:
Q. eruidntouv tnVv eniBiwon

Sev dlotalouv va otpadouv evavtia otov aAlo

ocuuneplpEpovtal oAU XELPOTEPQ

KAVOUV OAQL TOL TTALPATIAVW

o< @

5) «Tuyepoi eiote mou Sev unapyouv MOAguoL rtia!»: Ta eLoaywyLlkd SnAwvouv:
a. ElpwVEia
B. HeTadopLKO AOyo
2 Bavpaouod
6. €ubu Aoyo

6) Mote kaveic bev padaivel akpltBwc oAa 0oa guveéBnaay og Evav TOAELO: | UTIOYPOUULOUEVN
npotaon eivat:

. TIAQYLO. EPWTNHOTLKA
B. avadopkn

Y. XPOVLKN

6. oLtloAoyLKn

7) Makapt, AoUtov, ol ETTOUEVEC YEVIEG va YVwpPILooUV TN QPIKN TOU TOAEUOU UOVO UETA ATTO TA
B1BAia 1oTOplOIC KAl TIG KIVNUATOYPAPLKEC TAULVIEG KAl OELPEC!: n uTtoypAUULOUEVN AEEN:

a. CUUTEPQALVEL
B. ouvoilel

y. eneényel

6. attlohoyet

8) Tinota bev uével opdo: avlpwrtol, KTipLa, MTOAELC KAl XWPEC OAOKANPEC UETATPEMOVTAL OE
owpoUC amno epeimia: otn GpAcn auTr UTIAPXEL

a. Tmapopoiwaon

B. TIPOCWTOToLNCN
V. uetadopd

6. avtibeon

9) Ta nadia nrav etoypodavata amod TNV NEVA KAl ETTPETIE VA T OWTOUV: N UTIOYPAUULOUEVN
npotaon eivat:

a. BouAnTikA — UTtOKELEVO
B BouAnTLKA — AVTLKELLEVO
V. ev&0LOOTLKA — UTIOKELUEVO
6 evOOLOOTLKNA — QAVTLKEIPEVO

1%



10) AntAwc yaipetat mou ot ToAguoL Sev gival €5w: n UTIOYPOULOUEVN TTPOTACH ElvaL:

Q. avadoplkn

B. €L6LKN

y. OUUITEPOCLOTIKA
6 attloAoyikn

Mépog Il: povadeg 30




MEPO?2 Ill. MNAPATQrH AOroy

Mota ayaBad mpoodEpel n elprivn otoug avBpwroug; (150-200 A&€eLg)
(av 0 xwpog Sev emapkel, umopeite va cuvexioete 0To Miow HEPOG TNG oeAidag)

Mépog lll: povadeg 40
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MAGHMATIKA

OEMA 1lo:
Na xapaKtnploete KaBepio amo TG MapaAKATW MPOTACELS WG owaoTh (2) N AavBaouévn (A).

Movadeg 25
i) Av n e€lowon ax = f €xeL povadikn AVon, ToTe kat n e€iowon fx = a €xeL povadikn Avon.

2 A

.. , ’ 1 1
ii) Av x, y opdonuoLkatx < y tote — -> —

i) Av a, B,y # 0 kawn e€iowon ax? + Bx +y = 0, éxeL 800 pileg dvioeg oto R, tdTE KAL N
gflowon yx? — Bx + a = 0 éxeL 8Vo pileg dvioeg oto R.

iv) Av TO TpLWVUO ax?+ Bx +y He a # 0 éxel 500 pIleg X1, X2, IPAYHOTIKEG KAl AVIOEC, TOTE OX>
+ Bx + y = (x-x1)(x-x2)
2 A

v) Av yta U0 tpiywva ABI kot ZHO woxvouv AB=Z0, BI=HO kaL B = Z , tote ta tpiywva givat
loa.
)3 A

OEMA 2o0:
i) Na ypaete to moduwvupo A(x) = (2x — 1)3 — x(=3x + 2)2 + x2(x + 1) + 2 wg TéAelo
TETPAYWVO (TETpAYwWVO Stwvupou).

Movadeg 13

1¢



i) AvA(x) = (x + 1?2 kaw B(x) = —2x2 + x + 1, va AuBsi n e€iowon 34(x) — B(x) =
2x(x +5).

Movadeg 12

OEMA 3o0:
i) No arobeifete dtta — a? <

=

yla KA T Tou mpaypoTikou aplBuou a.

Movaéeg 13

ii) Av yla TOug payaTikoUg aplBuoug a, B, y, & loxveL otL
a?+ % +6%2=2af —y(25+7y),
va anodeiete otL oL aplBpuol a kat B ivat ioot kat ot aptBpotl y kat & eival avtiBetol.

Movadeg 12

OEMA 4o:
$TI¢ MAEUPEC ywviag xOy TMaipvoupe TUAHATA

OA=0B kaL Or=0A.
Av Z t0 onueio Toung Twy Bl, AA va

anodeifete oOtTL:

i) BIr=AA Movadeg 13
ii) AZ=2T Movadeg 12
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